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CHEMISTRY

4me : 75 minutes

Maximum : 90 marks
PART A — (40 marks)

A solution of potassium ferrocyanide would contain the number of ions

e 5 DE SDE [Tinosiiog) edirad’e Hog

(a) 2 (h) 3 KQ
(© 4 @ 6 @
The coordination number of copper in cuprammonium, sulphate is @

LA Oao :55355‘ 555 Gk, HRomgolh Dogy e @0

(a) 2 (b)

{c) 4

’Q
The atomic rumber of copper is 25, i%@tﬂmic number (EAN) in [Cu(NH,) **
is

ko DS wogy, 25 @ u(NH, ), I** Sdodgeh Shypidsnd” oo Prags

(a) 35 (b) 36

(©) 4& d) 40
. idaN2n number of Pt in [Pt(C,H,)Cl;1 is

[PUCH, ICLT™ & 26355 Gy, edbn Soay enm

(a) +1 (by +2

() +3 (d) - +4
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www.fréshersaddainet following chemicals are used to manufacture methylisocyanate that cauy
Ehopal tragedy?

il  Methylamine
(i) Phosgene

(iii) Phosphine

(iv) Dimethylamine

{a) (i) and (iii) (b) (i) and (iv)
{e) (i) and (iii) (d) (i) and (ii)

&1 808 TRE" D Bdrdirarg) §'oS )Lt SEE 236 0P &R TET
M 2opdaps

(i) groes

(i) $HE

(iv) 2psIms
(@) (i) SoBatfan i)
(e} (i) SoBcifao (iii)

RN
6. K,lAlC,0,),] is called 6@
(a) Potassium aluminium oxalate
(b) Potassium tris (oxalato) aluminate
(e) P;tgﬂsiﬁm tris (oxalato) alumi @
(d) Potassium aluminium (IIT)
EG[AIC,0,),] Ddon Deodenes

(a) bl e
(b) arertciss O gDt (II0)

© Whﬂhﬁa - ) sorgsBs V)
(d) DAHI (I11) esyBeS
1. @ ing elements is poisonous to living systems even in emall doses?
et E‘g BBoETH SPPOT 2080

_ (b) Hg
Zn (d) Na

B.  Of the following eomplexes, the one optically active
& (508 25" 28 Sy ddirlos?

(@) [Pe(NH,) (NH,OH)CIBr] (b) [Colen),]CL
() transe-[Co(en),Cl,] id)  [Co(NH,),Cl,]

‘Test No. : 104 4

www.freshersadda.net A



go-

1.

V&N"V*J}Fe%ﬁe*? s!,gd% g%lé?wing organometallics exist as ion pairs

(a) Ethylmagnesium iodide (b) Sodium alkynide
{¢) Tetra ethyl lead {d) Diethyl zine

&1 1808 D soH0Y S50 ScirdE ot BEER?

(a) wpSfhdnd edral (b) AAch weds
(©) Bpr=pddh (d) Bapd 8ok

From which of the following substitutents in the benzene ring will give Grignard re-
agent

51 208 0S* D BEESY0 BodS Seaking” S5 (R SEssion pSoRo?

(@) C=0 (» -COOR @
@ -CeN () @
Poisonous nature of CO is due to

{a) its neutral nature (b)
(¢) structure of molecule (d)

CO @), DSBS Sgird Dootesse

(c) Waﬂbm{r&nﬁn @:\‘-ﬂ

Which of the following is a secon nit?

&1 1808 6" DB Bghad m:’:gs-ﬁd}
(a) CO (b) NO
(c) PAN (d) S0:

Q¢ planar
Squaré planar and tétrahedral respectively
NitOD4 3085w Ni(PPh,), Cl, 0 Swf), Eanednr

(a) Stobyw

(b) Stotyy Hobahy S8 S20be
() St oo
(d)  SBo8 SoBo DB Sty

5 www.freghetsaddanet 104
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Wi b kaantina CoHN,Cl™ + CuCl Hél‘} CsHCl + N, + CuCl is known as

(a} Wurtz reaction \b) Sandmeyer reaction
{¢) Gattermann reaction {d) Friedel-Crafts reaction

CeH N.CI™ + CuCl ﬁﬁﬁ"’ CeHCl + N, + CuCl & Hi2adzen HOdsK?

(a) &b 5y b) To&loanhb sty

(© mebirs s @ PES-pR) S KQ
15. The protein which transports oxygen in the blood stream is @

(a) Haemoglobin (b) Myoglobin

(¢} Insulin D) Mh ..

85 (S8’ elaS 5o @S has

(a) ﬁ?ﬂﬁﬁ

(€  adds

16.  Beckmann rearrangemant invo @amn of
(a) Oxime to nitride &

_ amine to acid

(¢) nitro group to (d) oxime to amide
BE0S @aw@a Goci?

(2) &S m%g () IS 0l eiotns

@ e5% mod ImESD
17. ollowing which one does act as intermediate in Hoffmann
angement?

& 208 ad" DA F5H 05 DABgrgisnst g feodain?

(a) RNCO (b) RCON
{f:} RCONHEr {(d} RNC
www.freshersadda.net
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18 wwiitreshersebia néelectrophilic substitution reaction is

(a)
(e}

Chlorination of methane (k)

Nitration of benzene (d)

Methanol from methyl chloride
Ethylene from ethanol

doHOE (Jogs riy) PEiSno 8D soirein

(a) HoPS Gk, S'EIAS (b)
() BodS Bk, BRS (d)
19. The correct epimeric pair is

(a) D-Glucose and L-Glucose (b)
(¢) D-Glucose and D-Mannose (d)
SBELH IHA0E e KD

(&) &-rps'd o8ain M6-KRE'E (b)
() A-KpE*E Ho8din & -3rS'E (

20. Which of the following undergo Diels-Al

(a) ‘Thiophen %
(© Pyrrole @
& 208 s D8 &6, _ &m
@) §ArHS @ ®)
© &' % @
21 Furan

i @u mainly by distillation of
(b)
ood

Pinai? '
%wﬁa?gﬁé BB ipgoms rol S8y

(d)
(a) &b (b)

(¢) peak (d)

236 §2E Hood 2gTd

atiard 08 2505 KQ

D-Fructose and L-
D-Glucose and

0
&- MRS

S08cin JE-ArS'E

Sandal wood
Rose wood

Totid HE
5'& HE

www.figshersadda.ndt(4
[P.T.0)



lﬂvwmsﬁm‘lfngf electrophilic substitution reaction is

1

(a)
()

(e)

Chlorination of methane

Nitration of benzene

Bod§ Gk, DBSS

g, ‘The correct epimeric pair is

(a)
(e)

SEELDH JVoY et KRy

(a)

D-Glucose and L-Glucose

D-Glucose and D-Mannose

&-KpE'E oBas IS-KpE'E

(b}
(d)

Methanol from methyl chloride
Ethylene from ethanol

2058 (dogS yrirE) PaEsno BHHDH ATIrErtn

(@ 58 @Y, SEIS

(b) 23S EDE Mod wird

(d)

(b)
(d)

(¢) &-Kr5*E obain & -SrS'd
20. Which of the following undergo Diela-
(a) "I'hmph-:-.u
(e) %
& 208 st 08 &cf)
(a) BIFHS (b)
(e (d)
2L ainly by distillation of
(b)
ood (d)
or B fogts B0 g anots Byt
(a) &b (b)
() prsk (d)
:E’el T

afed ok J§OS KQ
D-Fructose and L-
D-Glucose 8C

Sandal weod
Rose wood

Totid HE

6 E
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96. Proteins when heated with Cone. HNO: gives a yollow colour is
{a) Oxidizing test (b} Xanthoproteic test
{c) Hoppe's test (d) Acid base test

EdSe s azes’ DABabm B3y S Sord

(a) efyEte () rrobi@udahs 565
() FD)sby (d)  eogs sy
Fn Which of the following has maximum number of "H-NMR spectral lines? K?
1 308 06" Bt Jiy,S "H-NMR Scioraroiin? @
(a) 11,2-Tribromosthane ®) 1, 1-Dibro
(¢) Ethylbromide @ 1,1,2,2T

28, Inareaction 2A + B — A,B, tho reactant A will di
(a) athalf the rate at that B will decrease
(b) atthoe same rate at that B will decrease
(¢) _atthe same rate at that A.B will form

(d) attwice the rate at that B will
mpaadaM+BqA,Bﬂhsa% Disorm S ok

(b) Equivalent weight
(d) Active mass

(b) Boogrdin

(d) @E3rio S0

9 www. freshefsBlia. net 04
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31.

Test No. : 104
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The hydrolysis of ethylacetate, ester + H,O ¥ acid + alecohol is a reaction of

(&) First order (b} Second order

(¢) Third order (d) Zeroorder

26 ohihS o sihno Auy), Eiroiua?

(a) ©S&% ESrofo (b)  Bghat Earoto

(c) Gybdah garoo (d) rdg Earoto

Conversion of molecules of A to B follows a second order kinetics. g 1
concentration A will increase rate of formation of B by a factor of @
oo A Dod BIrGA 5dad Ehrol Ko I, A MmEsD ::.;)
B I Bew DEKEO?

(@) 2 ® 4 o
© 2 @ V4

Velocity constant of a reaction at 290 K was fo 0%, At 300 K it will

be

290 K 33 e 50355 21 porotisn 3.2 x 107 3 oD dasdob doliosy?

(a) 1.28 %107 6 x107

(¢) 6.4x107 2x10

m order reaction has spoer &muhnﬁ of 2 min-'. The half life of the reactic-i
(a) 1.653 min (b) 0.347 min

() 2.0min (d) 0.0347 min

a8 S [EhroX WMEnﬁ‘mmmmﬁmW

Duidot? @
a) .E& (b) 03472
. (4 0.0347 2

(
WhichW? the following is not state function?

34.
G SoB 06" 28 o Fhoako B2
(a) dG (b) dS
¢} dH @ &g
www.freshersadda.net
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gs. Which of the following is not an intensive property?

(a) Internal encrgy (b) Temperature
() Surface tension (d) Viscosity
4 208 T0E" DB KIrd o S°E53?
(a) eobEs L (b) gt
() HEDS 8BRS (@ 2
[35. For isothermal expansion of an ideal gas, which of the following is not true? KQ
s 8384 0N SRR TE S50E" s BoB RS Do T @
(a) AE=0 | b q=0

(c) AV =0 {d)

47. 'What is the criteria for spontaneity? @
B BOBLEE Ko $hreol?
(a) TdS= &g

(e TdS< fg
38. Which of the following 18 true tor @
DEBSD Baph S Bob TRE" @
(8) -AA is+ve @ () (W, +PAV) is +ve
(e) W, is+ve - AF is +ve
%39. Which of the f true for the phases in equilibrium?
(G Tt 28 Heo?

) A () dF, >dFg
= an {'ﬂ-} dFA ":.dFB

jch of the following equations give efficiency of Carnot cycle

N

s 808 O B Eno s Sodhin Gul), oM Brooili?

(@) n=(T,-TuMT;. (b) 5 =T -T))ITy

© n=(T,-T,)IT, ) 5 =(T,-TT,

11 R, = [ R

[P.T.0.]
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42.

443.

44.

45.

46.

PART B — (30 marks)

www.freshersadda.net

Which of the following has highest radius?

&4 208 TG TS etyhE TyrEinein?
(a) Cr* (b) Mn*
(¢) Fe™ (d) co"
Which one is not a characteristic property of transition metals?
(a) Diamagnetism (b) Formation of coloured salts
(¢) Formation of complexes (d) Variable oxidation statea&
Ge 208 2 ePerEds S50 SN S FoHodt
(a) EHEHCDAM,CBHELD (b)
(0) Hoff Shyuibine Doy (d) wuske u.&_;,ga
Which one of the following transition metal exhibits ::'Qatlnn state?
&+ 208 D 38385 Sridn ety of¥tn R0
(a) Pd (b}
(e} Cr d
The highest paramagnetism will be show ition metal ion
&0 08 06" oByRE Soroh ' 8585 67 eairs
(a) NP (b) Co*
() Mn? (d Vv
Which of the folloywng ot 1 basic flux?
e 208 155570 5707
(a) A Ca (b) lime
1 (d) CaO

floatation process is used for the mr:t'a‘liurmr of

{a) loride ores (b) Oxide ores
(c) Sulphide ores (d) Amalgams
o 65 Boftirn TN 555 PP SEEN TASNH?

(a) 5{:@5 L8 (b) &b
&) Hepbehy (d) ey

www.freshersadda.net
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1.

&

Heating pyrites in air to remove sulphur is known as

Y i 175 T (b) Calcination
{c) Smelting (d) Fluxing
Sebs BofoSerdy, Py mdé* 34 Sabwo wdm?

() g5gs0 (b)  Ey¥esn
(c) EHedo (d) (SSs0E B5lab

Of the following which cannot be obtained by electrolysis of the agueous solution of their
salts?

1 08 odnood’ 40 soErinhini diSAESn ol 2rol Bin? @KQ

(a) Ag (b} Mgand Al
() Cu d ©Cr - @
Which one of the following metals is extracted by thermal rpd on& 1

a)  Copper (b)

&) Aluminium (d

&1 208 D &%ro > aRaHd YoHESnos® 5 Bo3

(a) =55

(c) um-gmm : @FW’“
CH,Cl+ KCN - X = Y com d r are

tﬂ-} E:H‘ ﬂnd CiHl'CN {b} ﬂ:HgﬂH lﬂd c,_H.

(¢) C,H,CN and C, (d) C,H,CN and C,H,CO0H
C;H,Cl+ KCN - paren X S0bain r oo

(a) C;H, sCN ) C,H,CN 58w C,H,

C,H,CH,NH, (&) C,H,CN %8a5 C,H,COOH
'I.hl:r following series

ﬁnuﬁ‘"z"mm

C,H, 1 O oy —tty ¥ O 7

() CH,CH,CN (b) CNCH,CH,CN
(& BrCH.CH,CN (d) DBrCH =CHCN

13 www.ffgShgisadda.net () 4
[P.T.O.]



52 i hlopeform on treatment with Cone, HNO, gives

{a) Chloropicrin (b) Nitromethane
(¢) Picric acid (d) Acotylene
% HOTHB0E" 516 romo S8yToBodm FBR8

() €628 (b) DSBS

(© DEE ey @ hesdS &

53. Which reagent is useful in converting 1-butanol to 1-bromeobutane? @

64,
() HSO0,+ E'n (d) Conc. HCl +Zn
5. g'lwn by
(a) (b) Trimethyl acotaldehyde
(d) Formaldehyde
DB b’ S etrth
(a) Sdardipd ®) @ hurfips
(¢) BoerirE @ podré
Test No. : 104 14
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b bl S S e
(a) Trimer of acotaldehyde

(b) Amorphous while polymer of formaldehyde
() Metameric form of iodoform

(d) Crystalline eyelic polymer of HCHO

WHIPRO ST
@ Sherdiph Oy, PEIrEd KQ
()  odmdE Fodipd erpossn @

(&)  o@EPE Sk, SHvSaH Ko
'
@ >opipE Gk, 58 Sodh saoHomin @

ﬁ Name the end product in the following series of

CH,COOH —Mh_, A & C

(a) CH, ,OH

(¢) Acetonitride %{d] Ammonium acetats

&1 208 SO, Bewod’ 250 CH,CO0H —h, A 4, B 0% ,C

(@) CH, @ () CH,OH
© obiste mﬂ% (@)  Rrynass DTS
ich of the following reagents, acetamide would give methylamine
(b) NaOH +Br,

(d) Hot Cone. H,S0,
eROPED 1 208 H TEros’ uoBtTossS 208 S Hlys

(@ PCI, (b) NaOH + Br,

© =pd (d) 3 mE SormBsisaw

15 wwwifieghersadda.net |
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Acetic anhydride reacts with excess of ammonia to form

www.freshersadda.net

60.

61.

@lE SRrDdhE” ebdE 35‘;{@15 ST 0BT DEHEIREG

(a) 2CH,COONH, (b) 2CH,CONH,

(c) CH,CONH, +CH,COONH, (d) 2CH,COO0H

The compound formed when malonie ester reacts with urea is

(a) Cinnamic acid (b) Butyric acid

() Barbiturie acid (d) Crotonic acid @
cfarBair 20608 JH6 BYTole Bt FipdEns?

(a) Dol esioio (b) =038

(e) erBoearBE eiotin (d)  Em

The azeotropic mixture of water (b.p. 100°C) v
this mixture is distilled it is possible to o

5 Rl
9D

6. 85°C) boils at 108.5°C. Whex

(b) Pure H,O

(¢} Pure HCl and watar

(d) Neither p

T

A8 (b.p.

(c) % HCl H8aks b

(@) oEYS HOL 5> 080k BEgRpsbis kré

Test No. : 104 16 www.freshersadda.net



F’ w"l\fvhwﬁ]ejs ne of é]agtfallawing pairs will not be forming an ideal solution?

s 208 Dut esiTory M55897?

(a) CgH, and CCl, (b) C,H, and C,H,CH,

{¢) C,HBr and C,H,I {d) (CH,),CO and CCl,

k3. Which one of the following reaction is not possible?

Ho 208 2 BSEdD Ao s
(a) Fe+H,S0, — FeS0, +H, (b) Cu+2AgNO; -
(c) Z2KBr+I, —» 2Kl+DBr, {dd CuO+H, Ib

8i. What infrared lines are present in molecule (CHy), @
(CH,),CO erdd He Sothe Bpda?

(a) C- HE‘&tr] peak at 2962 — 2853 %@

(b) C=0(str) peak at 1725 -1

() both C~H and mm@

(d) neither C-H =

n\%pﬂuﬁdﬂ do not absasb light above 200 nm?

1 (b) Benzene

T5. Which of the fo
(a) nep
s/ Dj

{(d) Methyl alcohol

&1 BRAD ©ewH 200 nm PR 00D (Erod:
() NS donS (b) Bodd

() Tupd b (@) 20S ey iren

17 wwwireshersagda.net) 4
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66, The number of fundamental bands poessible for linear CO, molecule
Bdal CO, s I 3508 oo Sgsin?

(a) 8 b) 4
c) 2 d &

67. Which of the following electronic transitions is more intense?

84 £08 5 Jogo8 36359 SEpsa KQ

(a n-=o b oo @
() === d n-x' @

68. Conjugated carbonyl group of C,H,COCH, appears at

202
C¢H COCH, &* 50 Sodafs&idd Starddn J
(a) 1690 em™ (b)
(¢) 1715 em™ em™
69. Which of the following objects are di
& 2B D 55D erisnne? &
(a) Socks @ () Basket ball
(6) Tennis racket (d) Onos' hand

5 bnformers of n-butane has least potential energy?
aggered (b) Gauche form
(d) Fully eclipsed

fane &6 Gk, D OErSELD By Sm Do ¥4 dnoit?

T0. Which of the {i

(2) Jr8oisR e5)o b Thexns
(e) Yo BrShw (d) P8 yires ErIEn
Test No.: 104 18 www.freshersadda.net g
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73,

4.

6.

www.freshersadda.net PART C — (20 marks)

The element californium belongs to a family of
(a) Actinide series (b)

Alkali metal family
(¢) Alkaline earth family (d) Lanthanide series
S0P Gaio o Hurolo J Hivowo DeBIE?

(a) 5REEd (b) 56T Heono
(€) B3y Hevowo @) Soidtd @

In the long form of periodic table, the element having lowest ionization %ﬂl
present in

(@) Igroup &) IV group

(¢) VII group (d) -zere group

By usKs SPYE' e Eod B Kareoh vabssn dgn Lotiod

(a) I3y (b) e \
(€) D5 (d)

The metallic lustre exhibited by sodium is ¢
(a) Diffusion of sodium ions

; b)) E6hH dogio el
(0 By degie WIER @ oot EoB6 s pogein Sk, a0

ssembles silicon in some of its properties?

S5 6y Sogoiso 20 &0
(k) Ga
@ m
Whiclef the following Nuorides does not exist?
&4 200 DR Digys?
(a) NFs (b) PFe
(c) AsFs (d) EbFe
19 wwweiesherRgdda b4

P.T.0)
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(a) The slacked lime (b) Quick lime

(¢) Calcium chloride d,  Phosphorous pentoxide
SRR Jer eEDeRED

(a) B4 oo (b) && Sodpgo

() =dabo £ (d)  PoBY Doyt

77. Which of the following specics has a trigonal planar shape @Kp

G+ 308 D ertoon WS dah SBoomg 650 ainoti

{a) CH; (b) CH:
() BF; (d) SiK 0
78. Which of the following behaves both as a nuel @
&1 g0l 28 ArgArpd H8din Jog pbir
() CH,NH, @ ci
(€ CH,CN CH,OH
79. Which of the following libera gas on treatment with water?
1 S0l 06" DO DosSEN?
{(a) Silicon (b) Calcium carbide
(¢) Alumini (d) Iron carbide
80. When m@ fod with aqueous H,SO, in presence of HgSO, the major produc|
is
) (b) Propyl hydrogen sulphato
Acctone (d) Propanel
H,30 330kes" @rpea Suo ooyl edeind® sdFodm 33) 85 daraision?
(0 @urgips () 2 pdipSles sp
(¢) s'S ) @pdogte

www.freshersadda.net
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Ellwmﬂm.ﬁﬁlhwiq is not an electron with drawing group?

& 208 D FRrTEn Joge o6 S

9
(a) -OR (b) -OCR
9 S
() -éijn (d) -NH-CR

Fg_ Which of the following does not obey Huckel's rule?

(a) Cyclopentadienide anion (b) G:.clnhapt&munyl m
(¢) Cyclopropenyl cation (d) Cyclopenta dienyl
& 208 D8 Tuid pudho 2Souh
P Do BonRB DHETD (b)
25238 sunnd @
83. Naphthalene on treatment with acid KMnO,
>3odS umlﬂ““‘“i &' ST ol -.ﬁna
(a) Phtha.lm acid Phthalonic acid

(a) Heat

(e) Phthﬂalduhydn dg (d) Phthalic anhydride
B4. Joule-Thomson expansion c@ produces

(e} Cooling

et 005y 08" a8

| 85, ternal energy of one mole of an ideal gas is given by
£E IS esgrding Cobds 3§ doud Job?

(a) 2/3 RET (b 2/3 kT

(¢) 8/2kT (d) 3/2RT
21

ﬂ:} No change in temperature
Heat above inversion temp.

(b) A&3pN6S" Srdnotith
@ 6% aapNe B S G

www. IR BN 1°1 04
P.T.0.)
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a17.

89,

90,

www.freshersadda.net

How many Cl~ ions are there around Na® ion in NaCl erystal?

NaCl Eﬁjtﬁinﬁ‘ RoRy Na’ M -ﬁ-.‘lt..B 2% C1™ Enﬁﬁmm‘?

(a) 3 (b) 4
(e} & d) 8

An arsenious sulphide sol carries a negative charge. The maximum precipitating pow
for this sol is due to

WOyaHn IME S ¥ puerdEsnd anys on esisdad % &ni
¥Daifnoo? @

(a) KO, (b) CaCl,

(c) NaPO, (d) AICL, @0
Which of the Tollowing Bk bond drdir ufE%? E @

&1 200 706" DB 25 wols Ein 8]

(a) HCI (

(€} Cco, %

A 0.6% solution of urea (M uld be isotonic with

(a) 0.1 M Glucose (b) 0.1 MEKCI

{c} 0.6% Glucose tio (d) 0.6% KCl solution
8L Lgﬂﬂ Tas*

ar8ah (ve 570 @ 60) pAMS'RE Erdmo SSET 6¥or

@ (b)) 0126 KOl
() \\.6% 5‘5‘5 |EhSeo (d) 0.6% KCl tideso

Which of the following compound has Van't Hoff factor to be 2 for dilution?

Ha (308 D 2d0¥8n 00t TolSFD nko 2 o,

(@ K,S0, | () NaHSO,
() Sugar (@) MgSO,

www.freshersadda.net
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